Math 1010 Final Exam

<l< é Form A, Fall 2008
)4

Instructor: ID verification:

Name:

Each problem is equally weighted. Scientific calculators are permitted.
Time limit: Two hours.
Not allowed: notes, books, graphing/programable calculators, cell phones.

Find the domain and the range of the relation. Use the vertical line test to determine whether the

graph is the graph of a function _
1) bom Mlpv' C 5&),&) yég/ g//l/? TION., §//(/Cé
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A) domain: [-4, «) B) domain: [-4, »)
range: (-, ©) range: (-, «)
not a function i

C) domain: (-=, »)
range: [-4, =)
not a function

D) domain: (-, »)
range: [-4, =)
function

Solve the problem.
2)  The length of a rectangular vegetable garden is 9 feet longer than its width. If the area

s
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Solve the equation. 1 -1 )

y v-lo gy =(7) =2

A)% B) 3 @ D)1
gO 743X -2 B 3
P g —=> /+3x=-J =7 Ix=-9 =

Find the vertex of the graph of the quadratic function.

\

4)  f(x)=-x*+6x-3 —
A) (3,24) B) (-3, -12) C) (6, -3) D) (3, 6)
- . -G _ 2
X’g‘f =T 23 = X x> = =N HUDTI=T419 3

= o vertex /(3¢ )
Solve the problem.
5) A chemist needs 130 milliliters of a 31% solution but has a d 43%/solutions

available. Find how many milliliters of each that should be mixed to getthe desired

As)o6lgtirr?lnc.)f 17%; 62 ml of 43% B) 65 ml of 17%; 65 ml of 43%
C) 60 ml of 17%; 70 ml of 43% D) 70 ml of 17%; 60 ml of 43%
! C X+y=130) > =X -y =22 MAy =130
X+ 3y = 311 s TREDYZHOS (T an 30
C_-”K"'/?‘/:——‘/?(Bo) 70= 152 x= L0
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Find the midpoint of the line segment whose endpoints are given.
7) ( -4, 7) (6 -8)

B) 2, -15) Q) 1,-L)

(%,;ﬁ; )/ﬂ/S 17( —71:'8>:> (_;_f—j;) =

Write as an exponential equation.

8) logez=7
A) 7=z B)e’=7 Q)7 =e
Ay o[z
@Solve thesystem for .
9)
- 7R
N &

X+y + z
X-y+2z

5x+y + z =-27 %)
A) -5 B) -4 D) ®
11 NABL=-4 =7 () BE=y

R +R7: >(+\/+z:f7 ~ (QX‘I'BZZ:'LD _ €
I x-yRE=>3 6X 432 =24 7-l0432 =1 =7 3%=
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ax 13 y A -32=Y Q Dj
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A3 A3 W23, By (-3 23, 3 23,
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Graph the union or intersection, as indicated.
11)  Theintersectionof x +y =-2and x-y = -5

_ X-Yz-5
Xty £-2
iy Y S lades Betyoo

- Ol 5
1oslds Lo 5040
-] O be low

Divide.

12) =3+ 14x2 - 15x + 3) + (-4x + 1)
m_ B) x2 - 3x + 3 C)2x2 +3 D) x2 + 3x - 3
2T 3X 473

XA T 105X +3
f%x3 _rax?
|2x* ~I5X
—(2x* X
Y

— (9 4
RS




Solve the problem.

13)  The number of mosquitoes M(x), in millions, in a certain area depends on the June
rainfall x, in inches: M(x) = 16x — x2. What rainfall produces the maximum number of

mosquitoes? '
A) O in. B) 8 in. C) 16 in. D) 64 in.

MAXMUM= (FERTC K

X;‘:_é = :!_;Li—:
Pl -7

Solve the equation.

14)  A/2x-3=3-x

A)26 Q)6 D) @

(s )= =K 2 2x-3=F-6xax" = KP~¥x 415 =O
= (x=C\Xx-N=0 2 x=2,6 BT x=6 ¢urs Ta =376

_ FALSC
Solve the problem. SO X = 2

15)  Scott set up a volleyball net in his backyard. One of the poles, which forms a right
angle with the ground, is 6 feet high. To secure the pole, he attached a rope from the
top of the pole to a stake 10 feet from the bottom of the pole. To the nearest tenth of a

oot, 1ind Jhe length of the rope.

B) 4.0 ft. C) 8.0 ft. D) 17.1 ft.

AL PeEnd = =136 == oux

Multiply or d1v1de as 1nd1cated. Simplify completely.
16) X2 +11x+24 X2 + 6x
2+ 14x +48 X2 -2x- 15

X% + 6x X
C) 0———
x-5 X~ + 14x + 48 x-5




Write the exp;,eﬁra_{l_i}the standard form a + bi.
17) @4+ 4@)
A) 20i2 + 32i + 12 B) -8 - 32i
- . -2 -
fol: |3 4300 #1201 4200 = [ 4+37¢ =70
N T

- 2o~
ke ~20

Solve the problem.
18)  One pump can drain a pool in 7 minutes. When a second pump is also used, the pool
only takes 5 minutes to drain. How long would it take the second pump to drain the

pool if it were the on np-inuse? Round your answer to the nearest tenth.
< A)24.1 r‘r;i'nute 5 minutes C) 33.0 minutes D) 2.9 minutes
ﬂ 97 1 57 1 9; A

/

- 3 ;'

Factor the polynomial completely.

19) 8y3z -z
(A),ZQ_L- 1)(4y2 + 1) B) z(2y + 1)(4y2 - 2y + 1)
Q) zQRy -1)(4y2+2y +1) — D) z(8y 1)(y2 +2y +1)

CE e <

Simplify the expression. Express the answer using only positive exponents. Assume that all
variables are positive.
9 4/3y3
20) 250 -
X

A) -2x1¢3 B) -8x%?° C) -2x? D) -8x'%3

4.3

A A
'773

X



Solve the inequality. Graph the solution set.
21)  Ix+31-123 = /X'F7>} 24
&S
A) (-, 710 11, =) VA3 =Y X+3=-1
N X =- K
X /
—t I
_ 7 | @] | S T( ﬂ_
I \II/ fﬂ%l'IZB
/ | 0+3[-123 g -12 3
043 ~/23 I3[-17.3
A
223
TRUL
Simplify the expression. Assume that all variables are positive. 172 «( S§AL S

22) 257 + 5A[18x% + 24/8x

A) 7x328 C) 28xA2 D) 8x1/2
”3‘53@ ”3/55‘@ 2 x5+ syl +uxlo «—7-

List the intercepts for the graph of the equation.

23) y =x2 + 14x + 48
A) (0, -6), (0, -8), (48, 0) m

hVZARN

C) (0, 6), (0, 8), (48, 0) D) (6,0), (8,0), (0, 48)
X(N-\- Av-o \/(‘mc X=0
90
XCFUK AU =D L(o O, (-0 (@ >0 V=0 L o4«
O(-}L,)(;(,r%):a V= 49
X=-G -
Rationalize the detiominator.
A5
24) N
A)JE—ME B)JEHNE C)JE—ME 34_+3I

7 -13 -13 12

E’ (% 5 4= lis =4l

-—n

B A 3 P




Find an equation of the line. Write the equation in standard form.

25)  Through (-4, -7) and (4, 6).
A) -3x +2y =-24 B) 3x - 2y = -24 @ D) 13x 8y 4
M=~y _>m;6-“7; V-Y,= —am(x-x,) —7Y 2 '3()r -4)
g :

ET N
o 8y -4g= B304 = gy-ug =rer-52 = PK-Qy =1
—

Find the center and the radius of the circle.

26)  x2+y2+16x -4y - 13 0
. s =81 B) center (-2, 8), radius = 9
C) center (- 8 2), radius =9 > D) center (8, -2), radius = 81

X HG}(-\—BL +\/ ~Hy LY '—)) LAY +Y
okt oD - frodis-Ta=q |

Find an equation of the line. Write the equation using function notation.
27)  Through (3, -4); perpendicular to x + 5y = -5

A) £(x) = 5x - 19 Xj;—? GL/ B) f(x) = 5x - 11 y=5x"19
Q) f(x) = lx-§ i 6 D)f(x):—%x% EC(X): ?X’(ﬁj
\/"" - - T
f)t’fPe V\C\ICC{G/ \} .A’ | Y = M(«\")(']
§ oppowlf " rg= 5(xY)

Q\‘(D((P(D(d 50 ouf 3’0{)8 AL c_; EE Ck-15

Perform the indicated operation. Simplify if possible.

28) 212 +§+ 3
X" +4x x x+4

X X

5 1,5 %“(ww L3 9 4 5XF90 +3% =

= —_— — —

—

K(XM} X Gy X1 K X (XM\

P

XUy X () X



Write the solution set using interval notation.

29)  5(x +3) = 6(x - 8) -
A) (-2, -33] B) (-=, 63] D) [-33)
— —
5 GX+S X8 = 63 EX S X263 ~7
<&_/
Simplify.
30)
3.2
X X2
9 _4
X2 X
A1 B)3x2+2 o1 )3x+2
3-2x 9 -4x 3x-2 9 -4x
s
€5, 20
A . onte



